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Gross wall area: 28,665 square inches 
uninsulated Mortar joint area: 1,878 square inches 
uninsulated Mortar joint area of total wall: 6.55% 

19’ 11 5/8”

9’ 11 5/8”

A 5% insulation void reduces r-value by 50%*

Omni Block totally insulates  

all block and all mortar joints

• Source: Arizona Energy office

Standard block: 7 5/8”x 7 5/8” x 15 5/8” 
standard Mortar jointS: 3/8” 
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There are insulated block systems on the market that make claims of continuous insulation within their block and 
upon close examination, they do. However, that examination also reveals that there is no insulation spanning the 
mortar joints in a total wall assembly. Since mortar joints account for at least 6% of the total wall, this would not 
be considered continuous insulation.  

Omni Block does not claim to have continuous insulation. Continuous insulation is not required in the IECC, 
specifically the Performance Path section of the code. Omni Block does have two independent layers of 
insulation inserts for the System 8 and 3 independent layers of insulation included in the System 12. Additionally, 
the insulation in both Systems span the mortar joints (vertically and horizontally). For more information visit 
www.omniblock.com.
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Calculations: 

Wall Area: 9’ 11 5/8” x 19’ 11 5/8” or 119.625” x 239.625” = 28,665.14 square inches 

Horizontal joints: 3/8” or 0.375” 
Length: 19’ 11 5/8” or 239.625” 
Quantity: 14 
Therefore: 14 x (0.375” x 239.625”) = 1,258.03 square inches 

Vertical joints: 3/8” or 0.375” 
Number of odd courses: 8 
Length of odd courses: 7 5/8” or 7.625” 
Quantity of vertical joints in odd courses: 14 
Therefore: 8 x ((0.375” x 7.625”) x 14) = 320.25 square inches 

Vertical joints: 3/8” or 0.375” 
Number of even courses: 7 
Length of even courses: 7 5/8” or 7.625” 
Quantity of vertical joints in even courses: 15 
Therefore: 7 x ((0.375” x 7.625”) x 15) = 300.195 square inches 

Results: 1,258.03 + 320.25 + 300.195 = 1,878.475 total square inches 
1,878.475 ÷ 28,665.14 = 0.0655
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Table shows 95% of the wall insulated with an R-30 and what a change in temperature of 20° uses in energy 
(Btu/hr) to maintain the starting temperature. 

Table shows 5% of the wall insulated with an R-1 (not really a total void) and what a change in temperature of 
20° uses in energy (Btu/hr) to maintain the starting temperature.
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Table shows where the total Btu/hr usage with the 5% void would be placed within Graph 1 and what that 
corresponding R-Value would equate to. 


